

On Zero-Symmetric Semicentral Γ -Near Rings

[¹] C. Raja Lakshmi, [²] Radha

[¹] II M.Sc (Mathematics), [²] Assistant Professor in Mathematics

[¹][²] A. P. C. Mahalaxmi College for Women, Thoothukudi, Tamil Nadu, India.

Abstract:- In this paper, we define zero-symmetric part in semicentral Γ -near rings. The definitions of left semicentral, right semicentral gamma near rings are defined along with the equivalence conditions for an idempotent e in the Γ -near ring to be both left semicentral and right semicentral. Any reduced gamma near ring with unity is both left and right semicentral Γ -near ring if it is zero-symmetric. Any left(right) regular unital Γ -near ring is right(left) semicentral if it is zero-symmetric.

Key Words: Semi central, idempotent element in Γ -near ring, unital, zero-symmetric, left(right) regular, reduced.

1. INTRODUCTION

For basic definition of near ring we refer Pilz [13, 14]. A generalization of both the concepts near-rings and Γ -rings, namely Γ -near rings was introduced by Satyanarayana Bhavanari [2, 15]. Yong Uk Cho [17] obtained some basic concepts and properties of Γ -near ring through regularity condition. Mason [7] give some characterization of left regular unital near-rings. Naoki kimura [12] gives some structures of idempotent semigroup. J Han, Y Lee, S Park [8] works on semicentral idempotents in ring. Further, Henry Heatherly, Ralch P. Tucci [9] works on central & semicentral idempotents in rings. Our main aim of this paper is to introduce the concept of semicentral gamma near rings.

II. PRELIMINARIES:

DEFINITION: II.1 [1]

Let $(M, +)$ be a group (need not be abelian) and Γ be a non-empty set. Then M is said to be Γ -near ring if there exists a mapping $M \times \Gamma \times M \rightarrow M$ (the image of (a, α, b) is denoted by $a\alpha b$) satisfying the following condition:

- (i) $(a + b)\alpha c = a\alpha c + b\alpha c$
- (ii) $(a\alpha b)\beta c = a\alpha(b\beta c) \forall a, b, c \in M$ and $\alpha, \beta \in \Gamma$

DEFINITION: II.2 [16]

A gamma near ring M is said to be *unital Γ -near ring*, if M has a unit element.

DEFINITION: II.3 [1]

A Γ -near ring M is said to be *zero symmetric Γ -near ring* if $a\gamma 0 = 0 \forall a \in M$ & $\gamma \in \Gamma$.

DEFINITION: II.4 [16]

An element d in the gamma near ring M is called *distributive* if $d\gamma(a + b) = d\gamma a + d\gamma b \forall a, b \in M$ & $\gamma \in \Gamma$.

NOTATION: II.5

$M_0 = \{a \in M \mid a\gamma 0 = 0\}$ which is called the zero symmetric part of M .

$M_c = \{a \in M \mid a\gamma 0 = a\}$ which is called the constant part of M .

M_d – set of all distributive elements in M .

DEFINITION: II.6 [10]

An element e in the gamma near ring, M is called an *idempotent* if $e\gamma e = e$ for all γ in Γ .

DEFINITION: II.7 [17]

A gamma near ring M is called *regular Γ -near ring* if for any element $a \in M$, there exists an element x in M such that $a = a\gamma_1 x \gamma_2 a$ for every non-zero pair of elements $\gamma_1, \gamma_2 \in \Gamma$. And the element a is called *regular*.

DEFINITION: II.8

A Γ -near ring M is called *π -regular gamma near ring* if for any element a in M , there exists a positive integer n such that a^n is regular.

In these cases, $a\gamma x, x\gamma a, a^n \gamma x, x\gamma a^n$ are all idempotents.

DEFINITION: II.9 [16]

A Γ -near ring M is said to be *left regular gamma near ring* if for each $a \in M$ there exists $x \in M$ such that $a = x\gamma_1 a \gamma_2 a$ for every non-zero pair of elements $\gamma_1, \gamma_2 \in \Gamma$.

DEFINITION: II.10 [16]

A gamma near ring M is said to be *right regular Γ -near ring* if, for each $a \in M$, there exists $x \in M$ such that $a = a\gamma_1 a \gamma_2 x$ for every non-zero pair of elements γ_1, γ_2 in Γ .

DEFINITION: II.11

An idempotent e in Γ -near ring M is *central* in M if $eyx = xye$ for all x in M .

DEFINITION: II.12

A Γ -near ring M in which every idempotent is central is called *central Γ -near ring*.

DEFINITION: II.13 [2]

An element $0 \neq a$ in the gamma near ring M is called *nilpotent* if $\{a\}^n = 0$ for some $n \geq 2$.

DEFINITION: II.14 [11]

A gamma near ring M is called *reduced Γ -near ring* if M has no non-zero nilpotent elements. (i.e.) for each $a \in M, (a\gamma)^n a = 0$, for some positive integer n implies $a = 0$.

LEMMA: II.15

Let M be a left regular gamma near ring. If for any a, b in M with $a\gamma b = 0$ for all γ in Γ , then $(b\gamma a)^n = b\gamma 0$ for all $\gamma \in \Gamma$ & for all positive integer n .

In particular, $b\gamma a = b\gamma 0 \forall \gamma \in \Gamma$.

Proof:

Let M be a left regular gamma near ring and let for any $a, b \in M$ with $a\gamma b = 0$ for all $\gamma \in \Gamma$.

- (i) $n = 1$, for $b\gamma a \in M$, by the left regularity, there exists $x \in M$ such that $b\gamma a = x\gamma_1(b\gamma a)\gamma_2(b\gamma a)$. From this equality, we obtain that $b\gamma a = x\gamma_1 b\gamma a\gamma_2 b\gamma a = x\gamma_1 b\gamma 0\gamma a = x\gamma_1 b\gamma 0 = x\gamma_1 b\gamma 0\gamma_2 b = b\gamma a\gamma_2 b = b\gamma 0$. Thus the statement is true for $n = 1$.
- (ii) Assume that statement is true for $n = k$, so $(b\gamma a)^k = b\gamma 0$ for all $\gamma \in \Gamma$. Then $(b\gamma a)^{k+1} = (b\gamma a)^k \gamma_1 (b\gamma a) = (b\gamma 0)\gamma_1 (b\gamma a) = b\gamma 0\gamma_1 b\gamma a = b\gamma 0$. Hence the statement with left regular case is true for all positive integer n .

COROLLARY: II.16

Let M be a right regular Γ -near ring. If for any $a, b \in M$ with $a\gamma b = 0$ for all γ in Γ , then $(b\gamma a)^n = b\gamma 0$, for all γ in Γ and for all positive integer n .

In particular, $b\gamma a = b\gamma 0 \forall \gamma \in \Gamma$.

LEMMA: II.17

Let M be a left regular Γ -near ring. If for any $a, b \in M$, with $a\gamma b = 0$ and $a^n = a\gamma 0$ for all positive integer $n \geq 2$ and $\forall \gamma \in \Gamma$, then $a = 0$.

In particular, if for any $a, b \in M$ with $a\gamma b = 0$ and $a^2 = a\gamma 0 \forall \gamma \in \Gamma$, then $a = 0$.

Proof:

Let M be a left regular gamma near ring and let for any $a, b \in M$ with $a\gamma b = 0$ & $a^n = a\gamma 0$ for all positive integer $n \geq 2$ and $\forall \gamma \in \Gamma$. Then for $a \in M$, by left regularity, there exists $x \in M$ such that $a = x\gamma_1 a^2 = x\gamma_1 a\gamma_2 a = x\gamma_1(x\gamma_1 a\gamma_2 a)\gamma_2 a = x^2\gamma_1 a^3 = \dots = x^{n-1}\gamma_1 a^n = x^{n-1}\gamma_1 a\gamma 0$. On the other hand, $a\gamma 0 = a^n = a\gamma a^{n-1} = x^{n-1}\gamma_1 a\gamma 0\gamma a^{n-1} = x^{n-1}\gamma_1 a\gamma 0 = a$. Hence $a = a\gamma 0 = a\gamma 0\gamma b = a\gamma b = 0$.

COROLLARY: II.18

Let M be a right regular gamma near ring. If for any $a, b \in M$ with $a\gamma b = 0$ and $a^n = a\gamma 0$ for all positive integer $n \geq 2$ and for all γ in Γ , then $a = 0$.

LEMMA: II.19

Let M be a zero-symmetric left regular Γ -near ring with $a\gamma b = 0$, for any $a, b \in M$ & $\gamma \in \Gamma$. Then M is reduced.

Proof:

Let M be a zero-symmetric left regular gamma near ring with $a\gamma b = 0$ for any $a, b \in M$ & $\gamma \in \Gamma$. By lemma: II.15, it follows that $a^n = a\gamma(a^{n-1}) = a\gamma 0$ for all positive integer n & $\forall \gamma \in \Gamma$. Then by lemma: II.17, $a = 0$. Therefore, $a^n = 0 \implies a = 0$. Hence M is reduced.

COROLLARY: II.20

Let M be a zero-symmetric right regular gamma near ring with $a\gamma b = 0$, for any $a, b \in M$ & $\gamma \in \Gamma$. Then M is reduced.

III. SEMICENTRAL GAMMA NEAR RINGS:

Throughout this paper, let M stands for unitary gamma near ring.

DEFINITION: III.1

An idempotent e in Γ -near ring M is called *left semicentral* in M if $M\Gamma e = e\Gamma M\Gamma e$.

DEFINITION: III.2

An idempotent e in gamma near ring M is called *right semicentral* in M if $e\Gamma M = e\Gamma M\Gamma e$.

DEFINITION: III.3

A gamma near ring M in which every idempotent is left semicentral is called *left semicentral Γ -near ring*.

DEFINITION: III.4

A Γ -near ring M in which every idempotent is right semicentral is called *right semicentral gamma near ring*.

DEFINITION: III.5

Two idempotents e, f in the gamma near-ring M are said to be isomorphic if there exist $a, b \in M$ such that $e = a\gamma b, f = b\gamma a$ for all γ in Γ .

NOTATION: III.6

$I(M)$ – set of all idempotents of M
 $S_l(M)$ – set of all left semicentral idempotents in M
 $S_r(M)$ – set of all right semicentral idempotents in M
 $C(M)$ – set of all central idempotents in M
 Now, we give the characterizations of left semicentral and right semicentral conditions in Γ -near ring M .

PROPOSITION: III.7

For any idempotent e in the gamma near ring M , the following conditions hold.

- (i) e is left semicentral $\Leftrightarrow aye = e\gamma_1 aye \forall a \in M \ \& \ \gamma, \gamma_1 \in \Gamma$
- (ii) e is right semicentral $\Leftrightarrow e\gamma a = e\gamma a\gamma_1 e \forall a \in M \ \& \ \gamma, \gamma_1 \in \Gamma$

Proof:

- (i) (\Rightarrow) Let $e \in M$ be left semicentral. Then for any $a \in M$, there exists $b \in M$ such that $aye = eby_1e$. Multiplying e to the left on both sides of the equation, we get $e\gamma_1 aye = e\gamma_1 eby_1e = eby_1e$. Thus $aye = eby_1e = e\gamma_1 aye$. Therefore, $aye = e\gamma_1 aye \forall a \in M \ \& \ \gamma, \gamma_1 \in \Gamma$.

(\Leftarrow) Let $x \in M\Gamma e$. Then $x = aye$ for some $a \in M \ \& \ \gamma \in \Gamma$. Thus $x = aye = e\gamma_1 aye \in e\Gamma M\Gamma e$ and $M\Gamma e \subset e\Gamma M\Gamma e$. Let $y \in e\Gamma M\Gamma e$. Then $y = e\gamma_1 aye = aye \in M\Gamma e$ and so $e\Gamma M\Gamma e \subset M\Gamma e$. Hence e is left semicentral.

- (ii) (\Rightarrow) Let $e \in M$ be right semicentral. Then for any $a \in M$, there exists $b \in M$ such that $e\gamma a = e\gamma_1 b\gamma e$. Multiplying e to the right on both sides of the equation, we get $e\gamma a\gamma_1 e = e\gamma_1 b\gamma e\gamma_1 e = e\gamma_1 b\gamma e$. Thus $e\gamma a = e\gamma_1 b\gamma e = e\gamma a\gamma_1 e$. Therefore, $e\gamma a = e\gamma a\gamma_1 e \forall a \in M \ \& \ \gamma, \gamma_1 \in \Gamma$.

(\Leftarrow) Let $x \in e\Gamma M$. Then $x = e\gamma a$ for some $a \in M \ \& \ \gamma \in \Gamma$. Thus $x = e\gamma a = e\gamma a\gamma_1 e \in e\Gamma M\Gamma e$ and so $e\Gamma M \subset e\Gamma M\Gamma e$. Let $y \in e\Gamma M\Gamma e$. Then $y = e\gamma a\gamma_1 e = e\gamma a \in e\Gamma M$ and so $e\Gamma M\Gamma e \subset e\Gamma M$. Hence e is right semicentral.

PROPOSITION: III.8

Let $e \in C(M)$. Then $e \in S_l(M)$ and $e \in S_r(M)$.

Proof:

Let $e \in C(M)$ and $r \in M$. Then $e\gamma_1 r\gamma e = (e\gamma_1 r)\gamma e = (r\gamma_1 e)\gamma e = r\gamma_1 (e\gamma e) = r\gamma_1 e$ and $e\gamma r\gamma_1 e = e\gamma (r\gamma_1 e) = e\gamma (e\gamma_1 r) = (e\gamma e)\gamma_1 r = e\gamma_1 r$. Then by proposition: III.7, $e \in S_l(M)$ and $e \in S_r(M)$.

Now, we state semicentral and central properties of zero-symmetric reduced gamma near ring.

PROPOSITION: III.9

Let M be a zero-symmetric reduced Γ -near ring with unity. Then

- (i) right semicentral Γ -near ring
- (ii) left semicentral Γ -near ring
- (iii) central

Proof:

Let M be a zero-symmetric reduced gamma near ring with unity.

- (i) Let $e \in M$ be an idempotent element and x be an unit element in M . Then $(e\gamma x - e\gamma x\gamma_1 e)\gamma_1 e = e\gamma x\gamma_1 e - e\gamma x\gamma_1 e\gamma_1 e = e\gamma x\gamma_1 e - e\gamma x\gamma_1 e = 0$, $(e\gamma x - e\gamma x\gamma_1 e)\gamma_1 e\gamma x = e\gamma x\gamma_1 e\gamma x - e\gamma x\gamma_1 e\gamma x = 0$ and $(e\gamma x - e\gamma x\gamma_1 e)\gamma_1 e\gamma x\gamma_1 e = e\gamma x\gamma_1 e\gamma x\gamma_1 e - e\gamma x\gamma_1 e\gamma_1 e\gamma x\gamma_1 e = e\gamma x\gamma_1 e\gamma x\gamma_1 e - e\gamma x\gamma_1 e\gamma x\gamma_1 e = 0$. Also, $e\gamma x\gamma_1 (e\gamma x - e\gamma x\gamma_1 e) = e\gamma x\gamma_1 e\gamma x - e\gamma x\gamma_1 e\gamma x\gamma_1 e = e\gamma x\gamma_1 e - e\gamma x\gamma_1 e\gamma e = e\gamma x\gamma_1 e - e\gamma x\gamma_1 e = 0$ and $e\gamma x\gamma_1 e\gamma_1 (e\gamma x - e\gamma x\gamma_1 e) = e\gamma x\gamma_1 e\gamma_1 (e\gamma x - e\gamma x\gamma_1 e) = e\gamma x\gamma_1 (e\gamma x - e\gamma x\gamma_1 e) = 0$. Hence, $(e\gamma x - e\gamma x\gamma_1 e)\gamma_1 (e\gamma x - e\gamma x\gamma_1 e) = e\gamma x\gamma_1 (e\gamma x - e\gamma x\gamma_1 e) - e\gamma x\gamma_1 e\gamma_1 (e\gamma x - e\gamma x\gamma_1 e) = 0$. Since M is reduced, $e\gamma x - e\gamma x\gamma_1 e = 0$ (i.e.) $e\gamma x = e\gamma x\gamma_1 e$. Consequently, $e\Gamma M = e\Gamma M\Gamma e \forall e \in M$. Thus M is right semicentral Γ -near ring.

- (ii) Let $e \in M$ be an idempotent element and $x \in M$ be an unit element in M . Then $e\gamma_1 (x\gamma e - e\gamma_1 x\gamma e) = e\gamma_1 x\gamma e - e\gamma_1 e\gamma_1 x\gamma e = e\gamma_1 x\gamma e - e\gamma_1 x\gamma e = 0$, $x\gamma e\gamma_1 (x\gamma e - e\gamma_1 x\gamma e) = x\gamma e\gamma_1 x\gamma e - x\gamma e\gamma_1 e\gamma_1 x\gamma e = x\gamma e\gamma_1 x\gamma e - x\gamma e\gamma_1 x\gamma e = 0$ and $e\gamma_1 x\gamma e\gamma_1 (x\gamma e - e\gamma_1 x\gamma e) = e\gamma_1 x\gamma e\gamma_1 x\gamma e - e\gamma_1 x\gamma e\gamma_1 e\gamma_1 x\gamma e = e\gamma_1 x\gamma e\gamma_1 x\gamma e - e\gamma_1 x\gamma e\gamma_1 x\gamma e = 0$. Also, $(x\gamma e - e\gamma_1 x\gamma e)\gamma_1 x\gamma e = x\gamma e\gamma_1 x\gamma e - e\gamma_1 x\gamma e\gamma_1 x\gamma e = e\gamma_1 x\gamma e - e\gamma_1 x\gamma e = 0$ and $(x\gamma e - e\gamma_1 x\gamma e)\gamma_1 e\gamma_1 x\gamma e = (x\gamma e\gamma_1 e - e\gamma_1 x\gamma e\gamma_1 e)\gamma_1 x\gamma e = (x\gamma e - e\gamma_1 x\gamma e)\gamma_1 x\gamma e = 0$. Hence $(x\gamma e - e\gamma_1 x\gamma e)\gamma_1 (x\gamma e - e\gamma_1 x\gamma e) = x\gamma e\gamma_1 (x\gamma e - e\gamma_1 x\gamma e) - e\gamma_1 x\gamma e\gamma_1 (x\gamma e - e\gamma_1 x\gamma e) = 0$. Since M is reduced, $x\gamma e - e\gamma_1 x\gamma e = 0$ (i.e.) $x\gamma e = e\gamma_1 x\gamma e$. Consequently, $M\Gamma e = e\Gamma M\Gamma e \forall e \in M$. Therefore, M is left semicentral gamma near ring.

(iii) By (i) & (ii), $e\Gamma M = e\Gamma M\Gamma e$ & $M\Gamma e = e\Gamma M\Gamma e \forall e \in M$. Thus $e\Gamma M = M\Gamma e = e\Gamma M\Gamma e$. For $m \in M$, there exists $x, y \in M$ such that $m\gamma_2 e = e\gamma_1 x\gamma_2 e$ and $e\gamma_1 m = e\gamma_1 y\gamma_2 e$. Now $e\gamma_1 m\gamma_2 e = e\gamma_1(m\gamma_2 e) = e\gamma_1(e\gamma_1 x\gamma_2 e) = e\gamma_1 x\gamma_2 e = m\gamma_2 e$ and $e\gamma_1 m\gamma_2 e = (e\gamma_1 m)\gamma_2 e = (e\gamma_1 y\gamma_2 e)\gamma_2 e = e\gamma_1 y\gamma_2 e = e\gamma_1 m$. Thus $e\gamma_1 m = e\gamma_1 m\gamma_2 e = m\gamma_2 e \forall m \in M$ & $\gamma_1, \gamma_2 \in \Gamma$. Therefore, every idempotent in M is central and hence M is central.

PROPOSITION: III.10

Let M be a zero-symmetric left regular unital gamma near ring with $a\gamma b = 0$ for any $a, b \in M$ and $\gamma \in \Gamma$. Then M is right semicentral Γ -near ring.

Proof:

Let M be a zero-symmetric left regular Γ -near ring with $a\gamma b = 0$ for any $a, b \in M$ & $\gamma \in \Gamma$. By lemma: II.19, M is reduced and by proposition: III.8, M is right semicentral gamma near ring.

COROLLARY: III.11

Let M be a zero-symmetric right regular unital Γ -near ring with $a\gamma b = 0$ for any $a, b \in M$ & $\gamma \in \Gamma$. Then M is left semicentral Γ -near ring.

Proof:

Let M be a zero-symmetric right regular Γ -near ring with $a\gamma b = 0$ for any $a, b \in M$ & $\gamma \in \Gamma$. By corollary: II.20, M is reduced and by proposition: III.8, M is left semicentral gamma near ring.

PROPOSITION: III.12

For an idempotent e of an Γ -near ring M the following conditions are equivalent:

- (i) $e \in M$ is left semicentral
- (ii) $a\gamma_2 e = e\gamma_1 a\gamma_2 e$ for all units $a \in M$, $\gamma_1, \gamma_2 \in \Gamma$
- (iii) $a\gamma_2 e = e\gamma_1 a\gamma_2 e$ for all nilpotents $a \in M$, $\gamma_1, \gamma_2 \in \Gamma$
- (iv) $f\gamma e$ is an idempotent for all idempotents $f \in M$ & γ in Γ
- (v) $f\gamma_2 e = e\gamma_1 f\gamma_2 e$ for all idempotents $f \in M$ & $\gamma_1, \gamma_2 \in \Gamma$ which are isomorphic to e
- (vi) $(f\gamma_2 e)^n = (e\gamma_1 f\gamma_2 e)^n$ for all idempotents $f \in M$ & $\gamma_1, \gamma_2 \in \Gamma$ which are isomorphic to e where n is some positive integer.

Proof:

(1) \Rightarrow (2): Suppose $e \in M$ is left semicentral, then $r\gamma_2 e = e\gamma_1 r\gamma_2 e \forall r \in M$ & $\gamma_1, \gamma_2 \neq 0 \in \Gamma$ by proposition: III.7. Therefore, it is true for all units $r \in M$.

(1) \Rightarrow (3) is obvious by proposition: III.7

(2) \Rightarrow (3): Suppose that the condition (2) holds. Let r be a nilpotent element of M . Then, $1 + r$ is an unit of M . By assumption (2), $(1 + r)\gamma_2 e = e\gamma_1(1 + r)\gamma_2 e$. This implies,

$1\gamma_2 e + r\gamma_2 e = e\gamma_1 1\gamma_2 e + e\gamma_1 r\gamma_2 e = 1\gamma_2 e + e\gamma_1 r\gamma_2 e$. Thus, $r\gamma_2 e = e\gamma_1 r\gamma_2 e$. Hence (3) holds.

(3) \Rightarrow (1): Suppose that the condition (3) holds. Let $a \in M$ be arbitrary. Consider the element $r = (1 - e)\gamma a e \in M$. Since $r\gamma r = 0$ & $r\gamma_2 e = e\gamma_1 r\gamma_2 e$, $(1 - e)\gamma a e = 0$. Thus, $a\gamma e = e\gamma a e$ and so e is left semicentral.

(1) \Rightarrow (4): Suppose that $e \in M$ is left semicentral. Then $(f\gamma e)\gamma_1(f\gamma e) = f\gamma(e\gamma_1 f\gamma e) = f\gamma f\gamma e = f\gamma e$. Thus $f\gamma e$ is an idempotent for all idempotents $f \in M$

(4) \Rightarrow (5): Suppose that the condition (4) holds. Since $1 - f \in M$ are idempotents for all idempotents $f \in M$, $(1 - f)\gamma e = [(1 - f)\gamma e]^2$ by assumption. Thus, $e - f\gamma e = (1 - f)\gamma e = [(1 - f)\gamma e]^2 = (e - f\gamma e)\gamma(e - f\gamma e) = e\gamma e - e\gamma f\gamma e - f\gamma e\gamma e + f\gamma e\gamma f\gamma e = e - e\gamma f\gamma e - f\gamma e + (f\gamma e)^2 = e - e\gamma f\gamma e - f\gamma e + f\gamma e = e - e\gamma f\gamma e$, so $f\gamma e = e\gamma f\gamma e$ for all idempotents $f \in M$.

(5) \Rightarrow (6) & (6) \Rightarrow (7) is obvious.

(7) \Rightarrow (1): Since the condition (6) holds and assume that e is not left semicentral. Then there is $a \in M$ such that $a\gamma_2 e - e\gamma_1 a\gamma_2 e \neq 0$. Consider $f = e + a\gamma_2 e - e\gamma_1 a\gamma_2 e$. Then $f^2 = f\gamma f \neq e$, $f\gamma e = (e + a\gamma_2 e - e\gamma_1 a\gamma_2 e)\gamma e = e\gamma e + a\gamma_2 e\gamma e - e\gamma_1 a\gamma_2 e\gamma e = e + a\gamma_2 e - e\gamma_1 a\gamma_2 e = f$ & $e\gamma f = e\gamma[e + a\gamma_2 e - e\gamma_1 a\gamma_2 e] = e\gamma e + e\gamma a\gamma_2 e - e\gamma e\gamma_1 a\gamma_2 e = e + e\gamma a\gamma_2 e - e\gamma_1 a\gamma_2 e = e$, so e & f are isomorphic idempotents. Therefore, $e = e\gamma f = e\gamma f\gamma_1 e = (e\gamma f\gamma_1 e)^n = (f\gamma_1 e)^n = f\gamma_1 e = f$ for any positive integer n and for all $\gamma_1, \gamma_2, \gamma$ in Γ which contradicts the assumption (4). Hence e is left semicentral.

COROLLARY: III.13

For an idempotent e of an Γ -near ring M the following conditions are equivalent:

- (i) $e \in M$ is right semicentral
- (ii) $e\gamma_1 a = e\gamma_1 a\gamma_2 e$ for all units $a \in M$, $\gamma_1, \gamma_2 \in \Gamma$
- (iii) $e\gamma_1 a = e\gamma_1 a\gamma_2 e$ for all nilpotents $a \in M$, $\gamma_1, \gamma_2 \in \Gamma$
- (iv) $e\gamma f$ is an idempotent for all idempotents $f \in M$ & γ in Γ
- (v) $e\gamma_1 f = e\gamma_1 f\gamma_2 e$ for all idempotents $f \in M$ & $\gamma_1, \gamma_2 \in \Gamma$ which are isomorphic to e
- (vi) $(e\gamma_1 f)^n = (e\gamma_1 f\gamma_2 e)^n$ for all idempotents $f \in M$ & $\gamma_1, \gamma_2 \in \Gamma$ which are isomorphic to e where n is some positive integer.

Proof:

It follows as similar to proposition: III.12 and by proposition: III.7

COROLLARY: III.14

For an idempotent e of an Γ -near ring M the following conditions are equivalent:

- (i) $e \in M$ is central

- (ii) $a\gamma_2e = e\gamma_1a\gamma_2e$ for all units $a \in M$, $\gamma_1, \gamma_2 \in \Gamma$
- (iii) $a\gamma_2e = e\gamma_1a\gamma_2e$ for all nilpotents $a \in M$, $\gamma_1, \gamma_2 \in \Gamma$
- (iv) $f\gamma e$ is an idempotent for all idempotents $f \in M$ & γ in Γ
- (v) $f\gamma_2e = e\gamma_1f\gamma_2e$ for all idempotents $f \in M$ & $\gamma_1, \gamma_2 \in \Gamma$ which are isomorphic to e
- (vi) $(f\gamma_2e)^n = (e\gamma_1f\gamma_2e)^n$ for all idempotents $f \in M$ & $\gamma_1, \gamma_2 \in \Gamma$ which are isomorphic to e where n is some positive integer.

Proof:

It follows from proposition: III.12 and corollary:

III.13

COROLLARY: III.15

For a gamma near ring M an idempotent $e \in M$ is left semicentral iff $1 - e$ is right semicentral.

Proof:

Let e be an left semicentral idempotent of M . Then $f\gamma_1e = e\gamma f\gamma_1e$ for all idempotents $f \in M$ & $\gamma_1, \gamma \in \Gamma$ by proposition: III.12. Therefore, $(1 - e)\gamma f\gamma_1(1 - e) = (f - e\gamma f)\gamma_1(1 - e) = 1 - f\gamma_1e - e\gamma f + e\gamma f\gamma_1e = f - e\gamma f = f(1 - e)$. This implies that $1 - e$ is a right semicentral idempotent of M by corollary: III.13. By retracing the steps the converse follows.

CONCLUSION:

In this paper, it is proved that a zero-symmetric reduced gamma near ring with unity is left semicentral, right semicentral and central gamma near rings is proved. It is proved that zero-symmetric left (right) regular unital Γ -near ring with zero divisor is right (left) semicentral Γ -near ring. Also, some characterizations of left (right) semicentral and central gamma near ring is proved. And it is proved that an idempotent e is left semicentral iff $1 - e$ is right semicentral.

BIBLIOGRAPHY

[1]N. Agrac and N.J. Groenewald, *Weakly and Strongly regular Near-Rings*, Algebra colloq., 12(1)(2005), 121-130

[2]Bhavanari Satyanarayana, *A talk on Γ -near rings*, Proceedings on the National Seminar on Algebra and its Application, JMJ college, Tenali, A.P., (July 11-12, 2011)(Editors: Prof. Dr. Bhavanari Satyanarayana and Dr. A.V. Vijaya Kumari) pp:01-16

[3]A.H. Clifford and G.B. Preston: “*The algebraic theory of semigroups*” math.survey 7; vol I, Amer.math.soc 1961.

[4]Clay, J.R., *Nearrings, Geneses and Application*, Oxford University Press, 1992.

[5]David. Mc Lean “*Idempotent semigroups*” Amer.math.monthly; 61; 110-113.

[6]Edward Domi, *Some results on Γ -near field*, Islam Braja.

[7]Gardon Mason, *Strongly regular near rings*, Proceedings of the Edinburg Mathematical Society, vol 23(1), Feb 1980, pp: 27-35.

[8]Han, Jucheol; Lee, Yang; Park, Sangwon; “*Semicentral Idempotents in a ring*”, Journal of the Korean Mathematical Society, vol 51(3), 2014 pp:463-473.

[9]Henry Heatherly, Ralph P. Tucci, “*Central and Semicentral Idempotents*” Kyunpook math.J.40(2000), 255-258.

[10]J.L. Jat and S.C. Choudhary, *On left bipotent near-rings*, Proc. Edinburg Math.soc.22(1979), no.2, 99-107.

[11]M. Kalaiselvi, N. Meenakumari, T. Tamizh Chelvam, *On Generalised Pseudo Commutative Gamma Near Rings*, International Journal of Mathematical Archieve-4(7), 2013, 174-177

[12]Naoki Kimura “*The structure of idempotent semigroup (I)*”, Proc. Japan Acad. 34;110(1958)

[13]G. Pilz, *Near-rings*, North Holland, Amsterdam 1983.

[14]Pilz, G., *Near-Rings*, The Theory and Application, New York, 1977.

[15]Satyanarayana Bhavanari, *A Note on Gamma-Near-Rings*, Indian Journal of Mathematics, B.N. Prasad Birth Centenary Commemoration, volume 41, No.3, 1999, 427-43.

[16]C. Selvaraj, R. George, *Strongly Regular Γ -near Rings*, Southeast Asian Bulletin of Mathematics (2011)35: 329-344.

[17]Yong UK Cho, *Some Results on Gamma Near-Rings*, Journal of the Chungcheong Mathematics Society, volume 19, No.3, September 2006.